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101 e1214| 1,017,815 620,352 397,463
= 814,252
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= 3,615
= 8,435
307 2iz2to| A 60,249 73,263 N 13,014
= 48,199
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= 8,435
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22s8EUsE =22 €42 NE-ULIISE 1,456 1,593 A 137
= 1,165
o=} 87
= 204
307 QI2t0| ™ 1,456 1,593 N 137
= 1,165
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ougsssx 1,456,000 = 14! 1,456
= 1,165
& 87
= 204
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= 214
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= 693, 166
& 362,891
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FAEHS NS 1,126,978 1,012,351 114,627
= 693, 166
& 362,891
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21218 ¢ Mol = 64,100 51,492 12,608
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= 33,100
201 gEt24Ay| 12,000 12,000 0
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20,000& x25Y 53| 2,500
206 M = Hl 9,600 9,600 0
01 X2 H| 9,600 9,600 0
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2,400,000 4= 9,600
301 et A= 3,000 2,020 980
& 2,000
= 1,000
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ONASE SMDSH NAAY A2
1,980,000& x1H x13|x1& 1,980
& 1,980
203 €2 F&d| 270 250 20
= 270
03 AIEH =X 2 F X Y| 270 250 20
OMASE sMINSH KNFAY AIZHFE
270,000& 270
& 270
L=0ETAd 24X 990,236 893,919 96,317
= 693, 166
= 297,070
307 2iztol & 990,236 893,919 96,317
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OFAHERIIE Ols2SH N S
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< 5,280
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3,000,000& *30t = 9,000
307 21201 A 30,600 32,700 A 2,100
< 5,280
i 25,320
10 ALSISXAIEEE2FHEX 7,000 7,000 0
OUZsIIEXNJdEH 294 XA
7,000,000& 7,000
11T MISRASEEX 23,600 25,700 A 2,100
Ot=sitEs Hx22g XA 6,000,000& 6,000
OCIHZBO0IIT 2010l A =5
12,600, 000& 12,600
< 3,780
s 8,820
OCHZEO0I0IT H& HES X2
5,000,000& 5,000
= 1,500
s 3,500
ZE0IA €70 IUHH 2sMHA X 9,700 7,240 2,460
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